
                       
   ½ mc2  of energy stored                                                                            No energy stored in           
   here in “Aether Spring”                                                                            “Aether Spring” here .      
  (Spring fully squeezed)                                                                             (Spring has fully   
        The photon goes                                                                                                      “sprung”) 
        forward with kinetic                                                                             .  .  .  .  .  .  .  .  .  . 
               energy = ½ mc2                                                                             “aether mistlets”  .      
    .  .  .       (and Vel.= c)                                                                               .  .  .  .  .  .  .  .  .  .    
    .  .  .  .  .  .  .  .  .  .  .  .                                                                                .  .  .  .  .  .  .  .  .  .                              
    .  .  .  .  .  .  .  .  .  .  .  .                                                                                   .  .  .  .  .  .  .  .  .  .                                  
 “aether spring” has here                                                                             wave path of photon                                         
     transferred its ½ mc2                                                                                .  .  .  .  .  .  .  .  .  . 
      energy to the proton.                                                                                  Note: 
(photon now has total of                                                                              Ekinetic= ½ m ( v )2 
     mc2  kinetic energy)                                                                                     = ½ m (1.414 c)2                           
(“Aether springs” at bottom of sketch not shown)                                            = ½ m (  2 c2 ) 
.                                                                                                                              =   m c2 
                                          _______ILLUSTRATION  1A_______ 
   Above sketch attempts to approximate a photon’s actions. A photon is shown oscillating   
   up and down, as it proceeds steadily forward at the speed of light “c”.  But an alternate model exists,
   where the photon consists of two particles or dipoles, orbiting one another at speed 'c'.  They spiral forward 
   at speed 'c', with no energy exchanges.
. 
.-------------------------------------------------------------------------------------------------------------- 
. 
.                                                                                           aether-spring’s action changed. 
 rotational                                                                           (forward ring speed”.                
ring-speed                                                                                            now almost “c”.) 
        = “c”                                                                          Total ring speed = c                                                      
                                                                                            .  .  .  .  .  .  .  .                       
  steady                                                                                 rotational speed now very slow. 
“aether-                                                                                           .  .  .  .  .  .  .  . 
  springs”                                                                            Note: the now slowly rotating ring 
surround-                                                                            had to “grab” more mass to 
  ing ring.                                                                              conserve its rotational angular                                                
  .  .  .  .  .                                                                             .  .  .  .  .  .  .                momentum.   
  .  .  .  .  .                                                                             .  .  .  .  .  .  .      
  .  .  .         NON-Travelling,                 Fast-Forward Travelling,             
  .  .           (but Fast rotating)                 (but now Slowly rotating)   
  .               material RING.                     material RING 
                                                                                          Note: = (Vrotatation)2 =                                                                   
                                                                                                               (Ctotal speed )2 - (Vforward)2 

                                                _____ILLUSTRATION  1B____ 
  Sketch shows an Elementary Particle (i.e., an Electron, Proton, or etc.) as like a spinning ring  
  of mass.  The Elementary Particle, shown at left, is just spinning in place, at “c”.  However,  
  as shown at right, it has been coerced forward to a forward speed of nearly “c”.  It rotational  
  speed has then nearly stopped and it has had to “absorb” much mass to maintain its former  
  “rotational” angular momentum.  (I think that causes increased mass with velocity.) 
                
               Click for back to:  Article’s Beginning   or  Summary and Conclusions 
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